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2 Caﬁgf—é-oz ~CaOms | 1194~1760 | 1 | —153,550 | — | 25.64
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|
41 Mgas +—;‘§-Oz =MgOmz 298~923 | 1 | —144,350 | —2 .9§ 33.95
5 ‘Mgwméog =MegOpmz 923~1376 | 1 | —145,350 | —0.24 | 26.95
6| ngg+-§03=Mg0§ 1376~2500 | 1 | —181,600 | ~7.37 | 75.7
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8 Mn§+-:—2[-03 =MnOpz 208~1500 { 1 | — 91,950 | -~ | 17.31
9 | Mngz ':"-—;"Oz =MnOmg | 1500~2061 | 1 | — 9,540| — | 19.62
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15| Coms +%Oz = Co0g% 208~1765 | 1 | — 55,900 | — 7.38
16 | M,mz +%02=H20% 373~2500 | 1 | — 60,130 — 3.93
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17 | Bamx +";*Oz=Ba-OEIE 298 1 -126.14£0.56 1920
18| Srms +-§-—02 =Sr0pmx 298 1 ~141.0+1.5 2430
19 { Bemx +%Oz = BeOpz 2908 1 ~147.342.5 2520
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2\Gagis +39,=CaSmg  1173~1763! 4.1~ 136,000, — — — | 27.5
3|Camgs + Sgep = CaSmg 998 |1{—114,600{ — — — | 4.7
4Mems +18, =MgSmg | 273~973 [4]- 99,950 — | — | — | 21.05
pIMEuets + 35, =MgSmx | 973~1873 1 |— 99,8000 — — — | 23.70
 ¢{Bags + 33, = BaSg s 208 |3!—113,660—8.98 5.912-0.781| 41.43
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o MDig + 58, =MnSgmy 15614~1808] 4. {— 70,800 — — — | 19.85
10 Mg + 35, = MnSp |1803~1993 4 | — 60,000 — - — 1 13.93
11|Fey + 38, =FeS8 — 3|~ 87,850 0.B3 —1.14| — | 13.46
12|Fey + 38, =FeSg — g’: — 86,420 12.48
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22| Bepmg: + Sapyps = BeSmi 298 |1] —56,100
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= T | Bett [Mg*+ | Nit+ | Cot+ | Fe++ [ Mn*+| Ca++ | Spt+t | Bat+

BF4R(A) | 0.81 10.65 | 0.69 | 0.72 0.75 |0.80 0.99 | 1.13 1..'-.;3
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